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Non Verbal Reasoning

Non Verbal Reasoning Multiple-Choice Test 1

Fill in the following particulars:
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Read the following careful
¢ Do not open this in the test until you are told to do so.
e Mark your ang

e Work as

answer sheet provided.
ckly as you can.

pn, go on to the next one.

nal 2 minutes to read and understand the example question at the
each section — a total of 40 minutes.
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For each question below, look at the 2 shapes in the box on the left. Once you have decided how the first shape
is related to the second one, have a look at the first shape outside the box. This is followed by an arrow and five
other shapes. One of these five shapes is related to the shape before the arrow in the same way as the two
shapes in the box are related to each other. Choose which one and mark it on the answer sheet.
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This is an example. The answer is C

Mark your answer on the answer sheet.

-0 A-« n

Mark your answer on the answer sheet.
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Mark your answer on the answer sheet.

Mark your answer on the
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Mark your answer on the answer sheet.
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Mark your answer on the answer sheet.
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Mark your answer on the answer sheet.
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Mark your answer on the answer sheet.
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Mark your answer on the answer
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Mark your answer on the answer sheet.
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In the following questions, there are three or four shapes in boxes on the left and then a space followed by

another shape in a box. Each box on the left has a pair of letters in it which are a code for the shape in that box.
You need to work out the code that applies to the shapes on the left and then choose which pair of letters should
be given to the shape on the right. There are 5 possible answers, but only one is correct and must be marked on

the answer sheet.
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This is an example. The answer is D

Mark your answer on the answer sheet.
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Mark your answer on the answer
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Mark your answer on the answer sheet.
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Mark your answer on the answer sheet.
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Mark your answer on the answer sheet.
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Mark your answer on the answer sheet.
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Mark your answer on the answer sheet.
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Mark your answer on the answer sheet.
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Mark your answer on the answer sheet.
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five squares. The shapes in the top five squares form a sequence, but
nk. Choose one of the squares from the bottom five to best complete the

In each question, th
one of the squares h
sequence and

A) B) 0 D) E)
This is an example. The answer is C
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Mark your answer on the answer sheet.

Mark your answer on the answer sheet.
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Mark your answer on the answer sheet.

Mark your answer on the answer sheet.
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B)
Mark your answer on the answer sheet

Mark your answer on the answer sheet.
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Each question has a group of either four or nine squares on the left. One of the squares has been left blank.
Choose one of the five options from the dotted squares on the right to best complete the group. Mark your
choice on the answer sheet.
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This is an example. The answer is B

Mark your answer on the answer sheet.
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Mark your answer on the answer sheet.
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Mark your answer on the answer sheet.
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Mark your answer on the answer sheet.
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Mark your answer on the answer sheet.
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Mark your answer on the answer sheet.
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Choose which one and mark it on the a ‘ he shape may not be flipped as this gives a mirror
image, it can only be rotated.
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Mark your answer on the answer sheet.

Mark your
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Mark your answer on the answer sheet.
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Mark your answer g
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______________ J - - __J1_______J1_______.
A) B) C) D) E)
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Answer Sheet

Non Verbal Reasoning Multiple-Choice Test 1
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Non Verbal Reasoning Multiple-Choice Test 1
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